Practice: Adding and Subtracting Decimals
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1. Calculate the total cost of the following bill.

ltem Price
Milk $3.46
Lettuce $2.18
Apples $3.74
Potatoes $1.05
Corn $2.96
Total

2. Solve the following problems. Include a summary statement.

a) Karen and her class are collecting money for a school picnic. By Tuesday, they
had collected $65.89. On Wednesday, she collected the following amounts:
$3.45, $5.68, $10.50, $7.08 and $8.53. How much money do Karen and her
class have in total?

b) If Karen’s class had a goal to contribute $125.00, how much more money do

they need to collect?

3. Gerald is building a fence around a yard. He took the following measurements.

How much wire should Gerald buy? How much should he buy if he wants to go
around the yard twice?

10.67m, 343 m,12m, 13.09m, 4.92 m

4. Jan drove the following distances while doing errands and visiting friends one
week. How many kilometres did Jan travel during that week?

122.1 km, 32.02 km, 116.98 km, 48 km
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1. Calculate the total cost of the following bill.

Item Price
Milk $3.46
Lettuce $2.18
Apples $3.74
Potatoes $1.05
Corn $2.96
Total 13.39

2. Solve the following problems.

a) Karen and her class are collecting money for a school picnic. By Tuesday, they
had collected $65.89. On Wednesday, she collected the following amounts:
$3.45, $5.68, $10.50, $7.08 and $8.53. How much money do Karen and her
class have in total?

$65.89 + $3.45 + $5.68 + $10.50 + $7.08 + $8.53 = $101.13

b) If Karen’s class had a goal to contribute $125.00, how much more money do
they need to collect?
$125.00 - $101.13 = $23.87

3. Gerald is building a fence around a yard. He took the following measurements.
How much wire should Gerald buy?

10.67 m, 3.43m,12m, 13.09m, 4.92 m
1067m+343m+12m,+13.09 m+4.92m=44.11m

4. Jan drove the following distances while doing errands and visiting friends one
week. How many kilometres did Jan travel during that week?

122.1 km, 32.02 km, 116.98 km, 48 km
122.1 km + 32.02 km + 116.98 km + 48 km = 319.1km



